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(- ) Describe “moment generating function” and “pooled sample variance”
of independent sample t-test.

( = )With linear regression analysis, what does Leasa®dviethod and Normal
Equations meaa?

( = ) Specify a reasonable or suitable probability density functiohrhass
function) for describing possible fire risk (i. e. random variable or
function) and its statistics*(z* ). Also, describe the purposes of
Chi-Square test.

(= ) With reference to simple random sampling, what does the distnbuti
(if any applies) of the statistigs® ~) > follow if the pagtidn is
normal and n is small? What does “standard error” mean?

( 7 ) Define “significant level” and “power of test”.
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(- ) An electrical firm manufactures light bulbs that have atlerof life
that is approximately normally distributed with a mean 4@kseand
standard deviation of 14 weeks. If 49 bulbs are randomly sampled
from the firm, find the probability that the sample mean of 46<u
exceeds 42 week$.7 4 )

( = ) Suppose that the five random variabtgsx,....X; , are indleach
has a standard normal distribution. Determine a constaath that
the random variable(X, + X,)/{X3+ X7+ X2  will havedistribution.

(8 %)

(= ) A random sample of 8 cigarettes of a certain brand has aagaver
nicotine content of 2.6 milligrams and a standard deviation of 0.9
milligram. Construct a 99% confidence interval for the true ayer
nicotine content of this particular brand of cigarettes, assuthiag
distribution of nicotine contents to be approximately normad~ )

Possibly useful datd:zggps= 1.96° Zg0s= 2.58> P(Z<-1)=0.1587 > tg .005=
3.355° 7, 0.005= 3.499’ tg .025= 2.306)
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